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= 2,100
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101 @124H| 75,725 73,420 2,305
04 JIZtNZ2 2N S+ 75,725 73,420 2,305
O HTHBH DILIMZIAL ot L& 12 75,725
oJles ¥ 288 S 75,725,000& 75,725
201 =3 10,000 10,000
2 35284l 10,000 10,000
OAI2EHI= I 10,000,000 10,000
206 M=l 52,000 40,000 12,000
01 MZH| 52,000 40,000 12,000
024 U 2 L S8 S
52,000,000 52,000
207 ARl 30,000 30,000
03 AlZ &=t 30,000 30,000
O HTHE DILIMZ A 2o THE
30,000,000 30,000
A ZEH2AA 2 213,056 213,373 A317
101 @124H| 88,346 87,273 1,073
M ORNZZE2NSES 88,346 87,273 1,073
OXAHILE 28 22X 2FY 88,346
oJl22 € 288 S 88,346,000 88,346
201 fer= 3| 104,710 106, 100 1,390
01 At 2|l 12,510 13,900 21,390
g =Ll 110
OJIEt =8Hl & MRES 110,000 110
| DI=pNg=d 500
O&=D| SRt 500,000 500
O2c|ES]| 11,900
OReIZHIES 2,100,000 2,100
(OFSPIRSI PSR fSIE= 6,800,000& 6,800
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M =28
mo: AASH2HY
ol HHsg SAAgL 23 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OICT(2AIAMOAIAH) KL B2H
3,000,000& 3,000
02 S3=gHl 92,200 92,200 0
02323 LAl 92,200
o&JIgs & St S 78,600,000 78,600
Oa=R=3 3,600,000 3,600
OAEEHIR Y 10,000,000& 10,000
207 ARl 20,000 20,000
03 Al 2HI 20,000 20,000
OMS HH XL HIOlAAHE AlSf & #E
20,000,000 20,000
MIls & MAES T Asse2 20,000 20,000 0
206 M=l 20,000 20,000
01 MHZHI 20,000 20,000
OMIlz & MES e &5 JIXHH
20,000,000 20,000
AEZA THBH HEd] 22 Bl &35 35,000 35,000
402 2I2F X201 & 35,000 35,000
01 QI X2 AL E A (KEHITH) 35,000 35,000
OAEZ A B el 22 Bl 5
35,000,000 35,000
DX IS ASE SHHES(EX) 100,000 0 100,000
= 50,000
Al 50,000
402 212 X201 & 100,000 0 100,000
= 50,000
Al 50,000
02 QI X2 AL EE(OIETHE) 100,000 0 100,000
OO |8 IS ES 2=
100,000,000 100,000
= 50,000
Al 50,000
sZ3HHYS 5,013,081 1,586,316 3,426,765
s 70,777
Il 2,000,000
= 1,412,271
Al 1,530,033
ANEge| x4 5,013,081 1,586,316 3,426,765
[ 70,777
Jl 2,000,000
s 1,412,271
Al 1,530,033
S X2 77,798 39,776 38,022
201 =3 24,400 26,000 21,600




M =28
3 sHFy=Ist
Sl A=l X EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 14,400 16,000 /1,600
O3] 8,400
OSHE X =8 2,400,000& 2,400
OBt IHAY FXI=H
1,000,000 1,000
OUANFSAALX, S+ 82 & Uz M
= 2,000,000& 2,000
OLANFSALALN 23l s ME
2,000,000 2,000
OS+2g8It iz MH
1,000,000& 1,000
Ol 6,000
OSAeY MY RN
3,000,000 3,000
OSAEE IHAY FXI HR2FA
3,000,000& 3,000
03 A2 I 10,000 10,000 0
OS72g A A 10,000
OSHY st=dE XS KAl
10,000,000 10,000
202 048l 3,398 3,776 A378
01 2L AL 3,398 3,776 A378
O=U04d| 3,398
OSSN T &Y HAZSHAH ZEAME =
2012 "o 1,298,0002 1,298
OSN&d At 2= F2)|12 82
700,000 700
OZHY H=20Esd A 25 g2
700,000 700
oY=I1Y gzl 24 700,000& 700
401 Al HIZL S 0HYI 50,000 10,000 40,000
01 Al&H| 50,000 10,000 40,000
O 28 NFA 50,000
OLUANFSASALK ALAAE HES
2,000,000 * 1090 £ 20,000
ORIZI=EEAHRHI = & M (=2
| 8) 15,000,000& 15,000
OUANFSAALX = M= &
15,000,000 15,000
=HSXteteal AL X3 21,000 61,000 240,000
201 er2 3| 11,000 31,000 /20,000
01 AtR2telHl 11,000 31,000 220,000
O eS| 8,000
O=MENEs 22 M
8,000,000& 8,000
o=l 3,000
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M =28
B =oiAmeiYs)
Rl AlEgel &4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=HSHEs HAT N
3,000,000& 3,000
401 AlEHIZ S 0HbI 10,000 30,000 220,000
04 SAL2EAIZH| 10,000 30,000 /20,000
O2WENEYS =Y DE AL S N
10,000,000& 10,000
ENMSRR(EXR) 600,000 500,000 100,000
< 300,000
Al 300,000
308 XtXIEMSOIH 600,000 500,000 100,000
= 300,000
Al 300,000
18 SIS0t oA AS A 600,000 500,000 100,000
O=NSAE2l Mzl X2
600,000,000 600,000
= 300,000
Al 300,000
QISTAHRC FEF PN L2l XY (EX) 93,746 0 93,746
= 50,201
= 7,419
Al 36,126
201 etz 3| 8,192 0 8,192
[ 4,0%
= 819
Al 3,277
03 A= I 8,192 0 8,192
OUAFZHAIAHX FAFLHA LRl X
A HOHA WBE 8,192,000 8,192
[ 4,09%
= 819
Al 3,277
301 EetE2 N = 26,670 0 26,670
[ 13,335
= 2,667
Al 10,668
14 DBt 2 a=S 26,670 0 26,670
OLUASTARCKA FAFHHH LXel X
HAY QIHIEIE 26,670,000 26,670
[ 13,335
= 2,667
Al 10,668
307 el2to| & 58,884 0 58,884
[ 32,770
= 3,933

©
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M JlsEs
M =OIAR2A25}
[ R} —/

=5l AEZe| =4 (SH9 H2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
Al 22,181
02 QA AAEE X 58,884 0 58,884
OUANSSHAAEI FEFHAH LAl X
A 58,884,000 58,884
[ 32,770
= 3,933
Al 22,181
S HE gXtel NJ(EX) 37,437 0 37,437
[ 20,576
= 2,652
Al 14,209
201 eer23y| 4,572 0 4,572
Fas 2,286
= 457
Al 1,829
03 A= SHI 4,572 0 4,572
OETMY B 2X2| NAY HOT D
= 4,572,000& 4,572
Fas 2,286
= 457
Al 1,829
307 el2tol & 32,865 0 32,865
= 18,290
& 2,1%
Al 12,380
02 2IZHBHAIHE £ 32,865 0 32,865
OSXtetd &E eXtel XNZA
32,865,000 32,865
= 18,290
< 2,1%
Al 12,380
SR (BE)(HEAIY) 161,500 85,000 76,500
= 95,000
Al 66,500
307 gl2to| & 161,500 85,000 76,500
=S 95,000
Al 66,500
02 QIZtEHAIEE X 161,500 85,000 76,500
OSHdE MY SIFE 5 E XA
161,500,000 161,500
[ 95,000
Al 66,500
ETSEE Ml 243 (EX) 21,600 32,400 210,800
= 7,200




M =28
3 sHFy=Ist
Sl A=l X EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 14,400
307 gl2tol & 21,600 32,400 10,800
=S 7,200
Al 14,400
02 QB AANSEER 21,600 32,400 10,800
OESSH=E MU 243 A
21,600,000 21,600
< 7,200
Al 14,400
EX0Y SSEE IS Melde 2H(BEx) 4,000,000 600,000 3,400,000
Il 2,000,000
< 1,000,000
Al 1,000,000
403 X SHHMSAH=01H 4,000,000 600,000 3,400,000
Il 2,000,000
== 1,000,000
Al 1,000,000
02 S 2S0ItH et =& 2 €A ] 4,000,000 600,000 3,400,000
OSSPV SSEE SIIIEHIHEH 75
4,000,000,000& 4,000,000
Il 2,000,000
s 1,000,000
Al 1,000,000
BH2IZHIOI=E=) 26,400 33,960 AT,560
JI2gEIO0IsE31) 26,400 33,960 AT,560
JI2ZHIOI=E31) 26,400 33,960 AT,560
202 04dl 21,600 28,800 AT7,200
01 2L A 21,600 28,800 AT7,200
OSEEZ 0| 100,000~ 18+ 122 21,600
203 =4l 4,800 5,160 A360
MU FA2ELRFAI 4,800 5,160 A360
Olls=221 400,000 123 4,800
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